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Question 1- A can do a work in 12 days and B can do the same work 1n
36 days. In how much time they will together complete the whole work.

T 1- A Toh bl ol 12 T & he GordT @ 31 B 36 [ a1 36 T 1 e
el 81 o Ueh ©TY G Sh13 ohl fohell S8 H 9 17

A9 days
B. 10 days
C. 12 days
D. 14 days
E. None of these

https://t.me/mathbytarunsirmepl
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Question 2- P 1s 50% more efficient than Q. They together start the work
and 7/12th of work 1s left after 16 days. Find in what time Q alone will

complete the whole work.

T 2- P, Q 31 QT H 50% 314k A &1 o Teh |1 ¥ & L & AR 16
[Tt o SITQ 3hTH T 7/12 91 T 219 T& T 21 J1d shifSr foh Q 3Tehicd I i
1 foRd I H 9 UMY

A.48 days
B96 days

C. 24 days

D.44 days

E. None of these

https://t.me/mathbytarunsirmepl
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Question 3- P and Q together can complete a work 1n(half the time of_ R,

30 while Q and R together can complete the same work 1n 1/3 rd time of P.
If they together complete the work 1 60 days then in how many days Q

alone can complete the work?
9% 3- P 3R Q Ush 9T sk 1 ol R o T8 GHI § YU H{ Hohdl 8, STelich Q
3T R THeTsht 3T 1 ol P o 1/3 G H 90 T Hehd & Ala o Teh |1 1
T 60 T&AT H I A &, AT Q 3Tehet ST ol fohe ToAT H T oL Hehall &7
A.60 days
B. 72 days
—£144 days
D.50 days

https://t.me/mathbytarunsirmepl E. None of these
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A.4 days

B. 6 days

C.5 days —
D.8 days

E. None of these
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Question 4- A can do a piece of work 1n 12 days. B can do the same work
in 15 days and C in 20 days. A and C worked for 2 days and handed it to
B. B worked for some days and handed it again to A and C 3 days before

completing the work. For how many days did B work?

T 4- A Toh il ol 12 T § o GehdT 21 B SET & oAl 15 a1 7 37T C 20
foaT § R HomaT 81 A 3T C 7 2 Te1 aok e foram 3T s8 B sl gig feam B9
% (a1 o foT T foham ST AT QU 6t © 3 fof Teed 38 TR | A 3T C
&1 Gy feam B 7 foras feA1 ook o fomam?

https://t.me/mathbytarunsirmepl
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E. None of these
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Question 5- A and B together can do a piece of work 1n 20 days, B and C
together can do the same work 1n 60 days. If B alone can do the same

work 1n 90 days, then find in how many days will A, B and C can do it

together?

T 5- A 3T B Teh 91 Uk ¥ ohl 20 TadT § T Gehd &, B 3T C fuete
St &1 B 60 T 1 o Tehd Bl afc B 37kt SHT &1 vt 90 fei o
TohdT &, 1 JTd Shils ok A, B 371 C Teh A1 39 foha fat # ot Hend 9

https://t.me/mathbytarunsirmepl
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Question 6- P’ 1s 40% less efficient than ‘Q’ who can do the same work
30 in 20% less time than ‘R’. If P and Q together can complete 40% of work
in 12 days, then in how many days 60% of work can be completed by P
and Q together.
T 6- P, 'Q' ® 40% FH HIA & ST J6T 1 1 'R' H 20% HH FHI H
HehRdT 21 A1 P 3R Q THART 40% %l o 12 faat § o7 SR |ehdl &, AT P 3R
Q THAHL 60% T Teha TaHT H I T Tkl &7

A.30 days
B. 32 days
C. 24 days
D.30 days

https://t.me/mathbytarunsirmepl E. None of these
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Question 7- A, B and C together can complete the work 1n 16 days and
30 C alone complete the work 1n 20 days. If A, B and C started the work
@fﬁer and after 10 days A and B left the work, in how many days C
alone complete the remaining work?
T 7- A, B 3 S THeToht s 1 16 1 H 92 3 Hehd & 3N C 3ohed il
oI 20 AT H 0 L Hehell 81 AT A, B 3R C T |1 HIW & L & A 10
faT o S8 A 3R B 318 ®I ad &, A1 C 3okl I sh1H okl fohe i 7 qu
LT 87 A7.5 days

B. 12.5 days

C. 14.5 days

D.20 days

https://t.me/mathbytarunsirmepl E. None of these
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Question 8- A and B can do a piece of work in 12 days and 15 days.
They start work one day each on alternatively. Find the ratio of time
taken to complete 60% of work and time taken to complete total work.

T 8- A 37 B Tah &1 &l 12 T 31 15 fo7 & st wehd 21 9 Ibfodss €1 0
Ueh-Ueh {aF hTH & 3 &1 60% T3 ol T A H AT ITed G737 el
T ! I ST H T FTed Y 3hT STATA 1l hi1si|

A.32:11
30 B.32:13
C.32:15
D.32:17
—ZE " None of these

https://t.me/mathbytarunsirmepl
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Question 9- 40 men working 8 hours a day can complete a work in’1

days. In how many days 24 men working 6 hours a day can complete the
~ -
same work. 2 A, D=

e

S 9- 40 T ST 8 Bie T2 ok Teh hd bl 16 o H I X Tkl 5| 24

L

&Y WTdife 6 e T Fich ST 1l ol fohe foAT H T T Tohdl &7

A-35.5 days
B.45.5. days
C.25.5 days
D.12.5 days
E. None of these

https://t.me/mathbytarunsirmepl
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Question 10- A,B and C can do a piece of work in 16 days, 24 days and
30 32 days. Thy start work together but B left 5 days before the completion

the work. In how much time total work was completed.
T4 10- A, B 3R C Th & T 16 &, 24 T 3R 32 oF # &k &1 3119

Teh 1Y 19 Y& Ld & Ik B hH QU EH § 5 7 T8ct S B a1 8l

et Y Tohe= GHT H T g2 A.12.9 days
_—=B-8.9 days
C. 5.9 days

D.22.9 days

E. None of these

https://t.me/mathbytarunsirmepl
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